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Republic of Iraq -Ministry of Education 2 ( Firs Role) June : 2019
Examination in Mathematics for Intermediate Schools \\3" Time : 3 Hours

Note: Answer ( five questions ) only, (20 Marks for each question )
Q1/ A. Assume the two mappings, f : Z — Z where S(x)=3x+1and g:Z = Z where
g(x) = 2x+ 5 .Find the value of (x) if (f o g)(x) = 28 .
B. By using formula of distance between two points, prove that the points,
A(1,-3),B(3,-4), C(~1,-2) are collinear.
Q2/A. A questions paper contains ( 12 ) questions, it is required to answer ( 10 ) questions. In how

many methods can the questions be selected ?
B. Choose the correct answer for the following:

1. 2y-3)* =2 (5M.)
a. 4y’ —6y+9 by +12y+9 ¢ 4> —12y+9 4. Y +6y+9
2.10x* -11x+1=72 (5M.)
a. 5x-1)(2x+1) b. (10x+1)(x-1) . Gx+1)(2x-1) d. 10x-1)(x-1)
y?-25  y-5

Q3/A. Write the following expression in simplest form: 2 16 2 14y 13

B. Find the lateral area and the total area for a regular pyramid which its lateral height is
(8) cm, and the side length of its square base is (2)cm.
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Q4/ Choose two only:
A. Find the terms between Ugand U, for an arithmetic sequence in which the third term is
(9and d=-2.
B. A box contains (3) red balls , (4) green balls and (5) blue balls. A ball was taken randomly,

then it was returned and another ball was taken. Find the probability of taking red ball at
first, and then a green ball.

C. What is the value of the constant (k) which makes the two roots of the equation
x> —(k+4)x=-9 equaled?
QS5/ Choose two only:

A. Find the solution set for the system in R by using the method of substitution :
y-5x=10
y—3x=8 L

B. Use the theorem of the two tangents to find the length of AB in the nearby circle :

A

4x-1
(=
- ¢ 2xtll .
C. Choose the correct answer: What is the slope of the line : 3x — 2 y=-6
a) - 3 b) - .;_ )3 d) z_

Qe6/ Choosegiwo only:
A. Find the image of the quadrangle where A(2 , 6) , B(—4, 0),C(-4,-8), D(-2,-12)

. i 1
under the effect of the proportion, its factor (—).

B. Solve the absolute value inequality then represent the solution on the line of numbers.

z—-1 S 3

C. Find the numerical value for the expression: (sin45°) (sec 45°)—(tan60°) (cot30°) + 2 csc90
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